
This toy is not intended to be used closed to swimming pools, stairs, 
roadways hills, streets or inclines. Capacity only for child. Always 
wear shoes during use. Can only be use regarding the young child-
ren under adult supervision. The adult should instruct the children 
to use this toy correctly. Reminder that the toy should be used with 

maintenance of the main parts (such as braking system) at regular 
intervals.

This toy requires adult assembly. 

hazardous points and small parts.
please keep it out of baby‘s reach.

WARNING:

27020-27070

12 months +

wall element “beehive”

L

Shape of Bone

Shape of Star

Screen of 
6 Elements

Screen of 
3 Element

6x 

4x 

4x 

1x 

1x 

2x 

2x 

6x 

16x 16x 

8x 10x 

20x 22x 

M6x65



Shape of Bone

Screen of 3 Elements3

Screen of 6 Elements

Shape of Star

8x 2x 2x 2x 

2x 4x 4x 

A B C D E F G
M6x37 M5x18 M5x11 M6(10.9) M6x12

H I J K L

h

h

i

i

ih

D
G

i

G G

G

H

I

j

h
i

h

i
j

Wall

Wall


